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fnsttu€tiotts to the candidaies:

t) Q. No. t and Q' No' I are comPulsa4''

2) .4ttempt cnr three questions from Q' No' 2 to Q' No'7

i) Figures to the ight indicate full marks'

.[b{*,c. l{arks :71}

Ql) a\ Fill in the blanks r.vith suitable options given below (An1'seven) : l7l

i) Business environment is _-' uncertain and complcrl in

nature'

a) Certain '

b) DYnamic

c) Unrelated

ii) Use-instead of commercial inorganic fertilizers to

lertilize gardens and yard plants'

a) ComPosting

b) Chemicai

, c) ComPanY made

iii) The political and administrate system in a --- dictaies

policies fo'*ut"tion' its implementation and control of business'

a) Country

b) ComPanY

c) Management
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iv) Which type of business can be controlled by entrepreneurs?

a) Political

b) lnternal

c) Economical

v) lntegrated rural development prograrnme is for the rural

person.

. a) Poor

b) Rich

c) Framer

vi) Anenuepreneurhasto
of these, he maY lose

a) Confrelence

b) PersonalitY

c) TemPer

viii The word environment is derived from

a) French

b) Hindi

c) Japanese

Language.

viii) --..-----.--..-.-t-vpe of pollution is inueased by excessive use

pesticides & ferlilizers.

a) Water

b) Air

c) 'soil

ix) The word enkepreneur is derived from .# language'

a) French

b) Marathi

c) Greek

l'z
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b) State whether the following statements ate true or false (An-v Seven) :

I7I

i. Reducing waste is simple step in preventing pollution'

ii. Export rra i*pott otiJntta ina"tity tends to be located near ports' So

tt at sl',ipping of gooas may be easy and also the transportation cost

maY be minimized'
iii. The entrepren.* ttkt' initiative accept risk offailure and have

intemal locus of control'

iv. Pollution is the lntroduction of contaminants into the natural

environment that causes adverse change'

v. When the govemment impasse high tax on profit then it acts as

hindrance in the grouP'

vi. Turn offlightt un-d uppti*"es when they are not in use'

vii.Theterm,disguisedunemploymenfcommonlyreferstoasituationof
employment with surplus manpower'

viii. Govemment h* U""itta the employment of children below the age of

i4 y""rr, in fac'tories, mines and risky employment'

ix. Illiieracy is not closely correlated to poverly'

Q2) Explainthe concept of Unemployment' Explain in detail the types of

UnemPloYrnent. I14l

Q3) a) State the qualities Successful Entrepreneur'

b) Explain the inter-relationship between business environment and

EntrePreneur

(74) What do you understand by Pollution? Explain the various lvpe of

pollution.

Q5) Explain the impact of Unemployment on entrepreneurship development'
t14l
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86J Defrne the Eesnomic Enviroument.

li4l

97) wha,fl is Poveny? Describe in detail the causes andremedies ofpoverty.[14[

Q-8J Ylrite short notEs {duy TrvO) :

a) Maaagerial funetioas ofan Entrepreneur.-

b) Black money.

c) Social Environment,

d) Distinetisn betwEen EnteprenEur iend lntapreneur.
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